Answer Key - MA: Mathematics
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24 3 NAT MA 121 to 121 1
25 3 NAT MA 10t0 10 1
26 3 MCQ MA A 2
27 3 MCQ MA C 2
28 3 MCQ MA A 2
29 3 MCQ MA C 2
30 3 MCQ MA A 2
31 3 MCQ MA D 2
32 3 MCQ MA B 2
33 3 MCQ MA B 2
34 3 MCQ MA B 2
35 3 MCQ MA C 2
36 3 MCQ MA A 2
37 3 MCQ MA B 2
38 3 MCQ MA C 2
39 3 MCQ MA D 2
40 3 MCQ MA B 2
41 3 MCQ MA D 2
42 3 MCQ MA D 2
43 3 MCQ MA C 2
44 3 NAT MA 3to3 2
45 3 NAT MA 56 to 56 2
46 3 NAT MA 0.5t0 0.5 2
a7 3 NAT MA 4 to 4 2
48 3 NAT MA 7to7 2
49 3 NAT MA 5t05 2
50 3 NAT MA 1.30to 1.40 2
51 3 NAT MA 2102 2
52 3 NAT MA 38 to 38 2
53 3 NAT MA 0.04 to 0.04 2
54 3 NAT MA 1.610 to 1.625 2
55 3 NAT MA 2.710t0 2.725 2




